Thu, Sep 26, 2019 MATH 450A Quiz 4
. Name: (print) W o) -

Each problem is worth 2 pomts Shovv all your Work

1. Determine whether the function is (i) continuous from the left (ii) continuous from the
right (iii) continuous at = = a: '
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Please turn over...



9. Prove that
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3. Give an example of functions f (z) and g(z) such that f(z) — +o0, g(z) — —o0 as

T — 00, and |
Jim f(z) +g(z) =

. A an arbitrary réa.l numbér. |
o) Arx) = /><’/ : fz/x) _ AN

VTl /ﬁf}«»@ e PK) D e
Mt %zsm 2k) = ,4

o) Fh)= VxPax o) =

e |
| o /x/ |
/ % _ 4

= L - X

%> VxZixix) T b/
| 77 ot=iA

f «m@@ufm g




